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1 Introduction
In RAN4 #53 Jeju meeting, LTE-A co-existence simulation results are presented in [1][2]. In [3], it is proposed that the ACIR modelling for LTE-A co-existence simulation. In this paper, we would like to discuss the interference from the UE groups of different uplink carriers within same system.
2 Uplink ACIR modelling
Figure 1 shows uplink ACIR modelling. Addition to the Huawei’s proposal, we need to consider the other UE group’s interference. Most carrier aggregation scenarios have 40MHz uplink carriers which has two LTE 20MHz carriers. Actually this is the view of UE side and same bandwidth of uplink as downlink is fully used in the view of whole system by assigning UE groups for different aggregated carrier component. For each UE, it has it’s different configuration of making two carriers combination (2x20MHz) from 4 carriers (for example, 80MHz). For this reason, interference from the other UE groups’ carrier aggregation should be considered for ACIR modelling in co-existence simulation.
Interference from other UE group is away from 40MHz, it is reasonable to take into account only 45dB ACLR to the victim UE.
Fig 1 Uplink 2*2*20MHz LTE-A UE aggressors to 10MHz LTE UE victim
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Table 1: ACLR model for E-UTRA interferer and 10MHz E-UTRA victim
	E-UTRA

	Number of RBs per UE

	Bandwidth (BAggressor)

	ACLR dB/ BAggressor

	
	
	
	Adjacent to edge of victim RBs
	Non Adjacent to edge of victim RBs
	Non-adjacent UE group to edge of victim RBs

	2x2x20 MHz
	66
	66 RB
	30 + X (less than 66 RBs away)
	43 + X (more than 66 RBs away)
	43 + X 

	X serves as the step size for simulations, X = … -10, -5, 0, 5, 10… dB


Table 1 shows the addition of ACLR from the other group UE’s aggressor. It is set to 43+X for evaluation.
3 Conclusion

It is proposed to include the other UE group’s UL carrier component to take into account the other UE group’s ACLR into UL co-existence simulation.
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